2nd Trumpet in Bb

Andante J = 62

Solveig's Song

Edvard Grieg arr. loan Dobrinescu

Poco meno . = 56

_9 m 154 con sord. harmon /N 5
Y 4 ”ﬁﬂ ! | - [ Y ]
@ T 1 1 I Q\
Y] I
rp
i _ . /=62 .
13 poco rif.= 60 cresc. diminuendo  poco rit.. rit. . _
4 ﬂu. ~ Pl
VAN Y ] 1 - ~ Y ] bl - 4 > \I
l\;)fD bl I \A I i \A \A / &
PP— PP— P
2] TempoJ =62 cresc. .=58
g v . S T o) w4
@ I y——y- D = =3 D )
o | : { | 7 7 p 7 4 - SV ]
= ! | | | [T / VA {\ bl 1 4_
/ I I I I | | 1) hl
e) ~ I | ' ' ' I Y
—
25 Allegretto tranquillamente J=112
I H ) | N 2 | | N | N
- XV B ) I — — - . I I — — : 1 — —
=iz * i e ooz —»
Y, ~ I S~ I I ~— I
rp
35 poco ritAndante /=60 @ senza sord. poco rit..
_9 . | | M #
HTE | | I - =) i - =X
{1 ——1+=-—IC = - H— — - &
¥ f ! ! ! €
— pPpP—
45 .=62 cresc. poco rit..
)4 .
Y 4 “ﬁ I < Y ]
(o Z Z! Z & S
Y] N~
pPpP—— —— pp—/———
49 /=66 poco rit._ /=66
ﬂu. | > p—t # - =P —
%;ﬁi o— i - S a—_) " - A — i s 7
- — € ot —
—_ — y 4 _ —_— mp
55 Allegretto tranquillamente J=112
_9 # M 4 1. | < ~ | -~ ~
A C— iy o il = > il = =
AN ——=¢ —— £ = £
[Y) S~ S~
rp
62
4t 2
o LT
b~ T |
[ 7 an YO S A
SV s
o)

* will not be played in the voice version

** will be played ordinarily
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